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QUESTION 1
Which system is unsuitable for use in a multinode cluster? System S1: one local drive three network interfaces access
to shared storage multiple processors two HBAs System S2: two mirrored local drives three network interfaces access

to shared storage a single processor two HBAs System S3: two mirrored local drives

three network interfaces access to shared storage multiple processors one HBA System S4: two mirrored local drives
three network interfaces multiple processors two HBAs

A. System S1
B. System S2
C. System S3
D. System S4

Correct Answer: D

QUESTION 2

Cluster systems are using a NIC teaming method. Both nicl and nic2 have been used to create the virtual network
interface named nic. The NIC resource is using the teamed nic device. If nicl is the currently active interface, what is
the effect on the NIC resource if nicl fails?

A. You must use the MultiNIC resource for this configuration.

B. The operating system fails over the IP addresses from nicl to nic2.

C. The NIC resource will fault causing the service group to fail over.

D. The NIC resource moves the IP addresses from nicl to nic2.

Correct Answer: B

QUESTION 3

Which two communication configuration files need to be modified on the existing nodes if a new node is added to the
cluster? (Select two.)

A. /etc/gabtab
B. /etc/llttab

C. /etc/gabhosts
D. /etc/llithosts
E. /etc/hosts

Correct Answer: AD

VCS-254 PDF Dumps | VCS-254 Study Guide | VCS-254 Braindumps 2/3


https://www.pass4itsure.com/vcs-254.html
https://www.pass4itsure.com/vcs-254.html
https://www.pass4itsure.com/vcs-254.html

. VCE & PDF https://www.pass4itsure.com/vcs-254.html
g 2024 Latest passditsure VCS-254 PDF and VCE dumps Download

— PassditSure.com

QUESTION 4

What is a characteristic of an application that is to be clustered with Veritas Cluster Server?

A. It must have the ability to be monitored.

B. It must have the ability to store all required data and configuration information on shared disks.f
C. It must have the ability to store all required data on SATA disks.

D. It must have the ability to copy configuration information between cluster nodes.

Correct Answer: A

QUESTION 5

What is the default level of authorization of a new VCS user?
A. Cluster Administrator

B. Cluster Operator

C. Cluster Guest

D. Group Administrator

E. Group Operator

Correct Answer: C
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